

Conversions Celsius-Fahrenheit (F)

Estimez ou précisez les conversions de température demandées.

$$-45 \text{ } ^\circ\text{F} = \underline{\quad} \text{ } ^\circ\text{C}$$

$$-37 \text{ } ^\circ\text{F} = \underline{\quad} \text{ } ^\circ\text{C}$$

$$41 \text{ } ^\circ\text{C} = \underline{\quad} \text{ } ^\circ\text{F}$$

$$-45 \text{ } ^\circ\text{C} = \underline{\quad} \text{ } ^\circ\text{F}$$

$$-16 \text{ } ^\circ\text{C} = \underline{\quad} \text{ } ^\circ\text{F}$$

$$18 \text{ } ^\circ\text{C} = \underline{\quad} \text{ } ^\circ\text{F}$$

$$-29 \text{ } ^\circ\text{F} = \underline{\quad} \text{ } ^\circ\text{C}$$

$$-81 \text{ } ^\circ\text{F} = \underline{\quad} \text{ } ^\circ\text{C}$$

$$-92 \text{ } ^\circ\text{F} = \underline{\quad} \text{ } ^\circ\text{C}$$

$$-25 \text{ } ^\circ\text{F} = \underline{\quad} \text{ } ^\circ\text{C}$$

$$50 \text{ } ^\circ\text{C} = \underline{\quad} \text{ } ^\circ\text{F}$$

$$31 \text{ } ^\circ\text{F} = \underline{\quad} \text{ } ^\circ\text{C}$$

$$81 \text{ } ^\circ\text{F} = \underline{\quad} \text{ } ^\circ\text{C}$$

$$76 \text{ } ^\circ\text{F} = \underline{\quad} \text{ } ^\circ\text{C}$$

$$28 \text{ } ^\circ\text{C} = \underline{\quad} \text{ } ^\circ\text{F}$$

$$-41 \text{ } ^\circ\text{F} = \underline{\quad} \text{ } ^\circ\text{C}$$

$$15 \text{ } ^\circ\text{F} = \underline{\quad} \text{ } ^\circ\text{C}$$

$$91 \text{ } ^\circ\text{F} = \underline{\quad} \text{ } ^\circ\text{C}$$

$$71 \text{ } ^\circ\text{F} = \underline{\quad} \text{ } ^\circ\text{C}$$

$$-4 \text{ } ^\circ\text{C} = \underline{\quad} \text{ } ^\circ\text{F}$$

$$50 \text{ } ^\circ\text{F} = \underline{\quad} \text{ } ^\circ\text{C}$$

$$28 \text{ } ^\circ\text{C} = \underline{\quad} \text{ } ^\circ\text{F}$$

$$-30 \text{ } ^\circ\text{C} = \underline{\quad} \text{ } ^\circ\text{F}$$

$$67 \text{ } ^\circ\text{C} = \underline{\quad} \text{ } ^\circ\text{F}$$

$$15 \text{ } ^\circ\text{C} = \underline{\quad} \text{ } ^\circ\text{F}$$

$$-81 \text{ } ^\circ\text{F} = \underline{\quad} \text{ } ^\circ\text{C}$$

$$7 \text{ } ^\circ\text{C} = \underline{\quad} \text{ } ^\circ\text{F}$$

$$32 \text{ } ^\circ\text{F} = \underline{\quad} \text{ } ^\circ\text{C}$$

$$59 \text{ } ^\circ\text{C} = \underline{\quad} \text{ } ^\circ\text{F}$$

$$-56 \text{ } ^\circ\text{C} = \underline{\quad} \text{ } ^\circ\text{F}$$